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Bnsate someone if you have damaged his or her property in some way.
ich situation below is the best example of Restitution ?
pena’sicamera and the lens shatters when it falls on the ground because he
ase. When Zakir returns the camera, he tells Leena that he will pay for the

.;ao‘ her ncighbor’s car, and when she returns it, the gas tank is practically empty.
izes profusely and tells her neighbor she will be more considerate the next time.
\Tanmay to check in on his apartment while he is out of town. When Tanmay
ves, he disegyers thata p1pe has burst and there is a considerable amount of water damage.
gcalls.a plumber to repair the pipe.

J' suspects that the pothole in her company’s parking lot caused her flat tire. She te
Y055 that she thinks the company should pay for the repair. M

e e w9 W, Auieren gen F fafie ve fou e € e e A siftes ue s
Fgie, U T foenedl § | W 9 JH |
ng question, various terms of an alphab
wn by (7 ). Choose the missing .s?i-

]

bedf ? hj_ 2 TN
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10.

11.

12.

T ST F1 et T AR I FE A qg -ach figure only once:
Group the given figures into three classes using €
1 2 3
4 5 6
7 : 2 6,89
1,2,4 ; 31517 / res
@ 139;278;456 @) 1391256478

© 136;248;579 |
i ve § 9 9 § o T @ Ffa d6E sﬂﬁmw*ww’a‘lw@m

o X o W S g A W A

Todt : WA

(a) TW® : fuz (b) Re:EE

(€ weft: wrw (d) R : THA _ b L .
Following question consists of two words that have a certain relahopshxg to each o er, fOllo?ved
by four pairs of the words. Select that pair which has the same relationship as the original pair of
words.

Fish : Shoal

(@) Audience : Theatre (b) Whale : Herd

(c) Elephant : Flock (d) Shark : School

ST

- <0 #1 R Heu Afaes A 3 v w |

&Y :

() At i § 2 srufert €

(I1) Mmﬁwﬁ%ﬁﬂmM|

(a) %ad smon (1) fafifeq & (b) Ee RO (10) siafifeq &

(c) & (1) 71 (1) afafifeq & (d) F@ @) AT H (1)) sififem d

Statement :
“Please put more people on the job to make up for the delay.”

Assumptions :

(mn 1 inevitable in most johs
I increase with rmo ¢ 110 bor of people on the job
umption (I) is im ! | (h)  Only assumption (II)‘ is implicit
+ (1) or (H) is implic i (l) Neither (I) nor (I1) is implilcjitlCl
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Tl el & A9 9 o S S 2
(b) HHM
(d) Aesi

known as Sorrow of China or Yellow river.
(b) Mekong
(d) Yangtze
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17. faqu & wenE F6 € (1.3.2024 ) ? 21.
(a) 4. w&W fepgire Wi aam
(b) gt, frfer FHR fam
(c) gt f'&ft 14
(d) =T wIforR Hel
Who is the Chief Minister of Tripura (as on. 1.3.2024) ?

(a) Shri. Pradoyt Kishore Manikya Debbarma
(b)  Shri. Philip Kumar Reang
(c) Shri Tinku Roy
(d) Dr. Manik Saha
18. THE TgA B H & fian & | HHE F A uré ¥ 3 A T H U Ay & | o, A H1 9F €1 T, Tgm
7 ®q ¥ gafd 2
(@) = (b) it () ==uE (d) g

Makrand is Rahul’s mother’s father. Makrand has three brothers. One of them has grandson Abhi.

Rajan is son of Abhi. Rajan is related to Rahul as
(a) Son (b) Nephew (c) Cousin (d) Brother

19, ¥ e % =i &1 I frefataa 3 9 fae fom s €2
(a) @ i Efew ffa (b) T Fi = ffa 3.
(c) wra Fi AEHfETwa fAfd (d) T F iR Al
The salary of the Judge of High Court are charged from which among the following ?

(a) Consolidated Fund of India (b) Consolidated Fund of State
(c) Contingency Fund of India (d) Contingency Fund of State

20. Fei FHA 9T | gaed $8 = fFu M ¥
*  hapllesh @1 &% € cloudburst

«  srenchoch @1 319 ¥ pinball

*  resbosrench @1 319 & ninepin 1 R
f#8 o= #1 #1d “cloudnine” & Wahal € ?
(a) . leshsrench (b) ochhapl (c) haploch (d) haplresbo

Here are some words translated from an artificial language.

*  hapllesh means cloudburst

*  srenchoch means pinball A5
*  resbosrench means ninepin

Which word could mean “cloudnine” ?

(@) leshsroncl (b)  ochhapl (¢) haploch (ﬁ) haplresbo
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The Kachin Hills make a

g number from among the given alternative
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(25-26) : TrefaRad T Y SATgEh ¢ air Frefafad

uiaﬁap,Q,R,sai‘r{'rﬁaﬁ@maﬁ,mW,W
W,W,WWW%WW—W
(i) mmﬁaﬁf‘aﬁr—ﬁaﬁmaﬁ,mwﬁwqﬁﬁ;
(iif) R R A e T sl Q e SRS | FHereh T
(iv) sﬁmﬁwﬁmﬁ;ﬁﬁwﬁl

(v) Hﬁﬁ,ﬁﬁﬂaﬂﬁﬂéﬁwmwﬂﬁ%l

(1)

Read the following information carefully an
(i) Five friends P, Q, R, Sand T travelled to five differe

Bangalore and Hyderabad by
and Boat from Mumbai.;

i) The person who travelled to Delhi did not travel by boat;

—_— o~

iii)
iv) S travelled by boat whereas T travelled by train.

) Mumbai is not connected by bus to Delhi and Chennai.

—_

<

—

V

i § 3o s & @ i @1 HaIH W ¥

25¢
() Ret-w@ () JE-TE () -9
Which of the following combinations is true for Friend S ?
(a) Delhi - Bus (b) Chennai - Boat (c¢) Chennai - Bus
26. =AF AR A & WA F FeAfafeEd § 9 HH 91 949 g6 16 2
(@) P-=¥ () Q-TWEWEN (o) T - el
Which of the following combinations of person and mode is not correct ?
(@) P-Bus (b) Q- .Aeroplane (c) T- Aeroplane (d) R - Car
27. Trefafed 3§ & @ @ aedafer e @ &2
(a) TS S b) TEwE
(c) WHeAEHYA (d) TEEHfRTEYH
Which of the following is not a valid arithmetic operator ?
(a) Average Deviation (b)  Subtracti :
() Multiplication (d) Expongn;:ﬁ
on
28.  frefafea & 4 M 41 o9 o 3 f
T11 HIGshIGTG
i B forhif e ey oy 2
Which of the f Wbl oy
ich of the following web search engine
@ Bing . | gine was developed by Microsoft ?
( ) Yﬂ h( 10) (C)
. GOOgle
N-01/C -

Tl <Y A

d answer the questions that follow :
nt cities of Chennai, Calcutta, Delhj,

five different modes of transport of Bus, Train, Aeroplane, Car

R went to Bangalore by car and Q went to Calcutta by aeroplane;

T § I Tl

None of these

30. U3

31. 39

32. ‘Jeff

33.

(@

Asse
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vements of the students.




i i i d promote
(a) ensure inclusive and equitable quality education and p

for all. . ¢ ; al protection to make Ind
(b) ensure economic development, social inclusion and énvironmentas p Indi

4 % T WfEd .

34, e 2020 e yovedt B __ﬁgqﬁﬁﬂmﬁfmﬁ'f‘iﬁig:; + ik

(a) WHTSRR S AT ool e gfafera e AL ot HiE & ST (
30 e T G

() T ) e S o fe S BILIEED ;;rﬁw HE (

(©) mﬁaﬁwaﬁaﬁmﬁmﬁ?ﬁ,maﬂiaﬁw (

(d)  OTEeA, et aﬂwmai%ﬁmﬁ#eﬂml i _ r

NEP 2020 aligns with SDG-4 to revamp education sy g eartiing opg (

(

(

(

super power.

i i i resilient.
(c) make cities and human settlements inclusive, sustainable and

(d) develop transparent, offective and accountable institutions. -
ISR }
35. G SR, 2012 T SfufTEE € S QW?I (
() S, i e SR el Wi o ST & T G
(b) = % TR Sedie & R WHEE F 3

(0 Tl & faars 9 STl & JEd

() foeE  AEREE IS & HR 1 GHEE ST

POCSO Act, 2012 is an act which deals with :

(a) the protection of children from offences of sexual assault, sexual harassment and pornography
(b) to address the issues of mental harassment of child

(c) the issue of sexual offences against teachers

(d) to address the issues of mental harassment of teacher

L [ e — Aad

36. ¥ W UH Hieal H SR TR F L TS Fal, ‘TR A A F A2 F fGqrhl e ¥1' o A, A

e i e

FAE?

() T (b) & () ud @ =

Pointing to a lady on the platform, Anju said, ‘She is the sister of the father of my mother’s son’.

Who is the lady to Anju ? . |

(a) Mother (b) Sister (c) Aunt (d) Grandmother |
At i 3l e ) 2 g 3 |

(a) HrEfeT fameq =

(b) e B % ST Yol RO Wy

(c)  HRA 1 Tl o 7 71 B o B g k3

(d) §a wHey

The Paste Special command lets you copy and paste :
(a) Formatting options

(b) ~ The resulting values of a formula instead of the
(c)  Multiply the selection by a copied value
([d)Ce]] comments

actual formula
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(b) W&

(b) PRAKHAR (c) NCPCR




* AutoSum functionalit_v in the Status bar ?
() Product (d)

Sum




ainst parents and child

oping in local bodies and Panchayats to ensu

e school.

inging awareness and involving communities by organiz

rards and recognitions to mothers and children goin

and (II) (b)  (III) and (IV) (1) and (
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(d) 394492
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build a connect between school and the child’s home.,
omplete extensive syllabus.

pase the learning process.

evelop punctuality.




first five vears | b)  first seven years
first eight years (d) None of the options




_ 3 (ifi) A 96 2 = (iv) TBI T |
(ii), (iii) 3 (iv) AT T5 3 = (i) TSI T |
¥ (i), (i) 3 (iv) AT 98 3 T (iii) T3 J |
¥ (i), (ii), (i) 2 (iv) 979 AT T3 |



83. wwm@@anmﬁ;ﬁaa@&amémm/

2 3 3 <t 3f0 faE8e 3 AHSE R

%ﬁea@rﬁi@?wfgﬁﬁwaﬂmaﬁ/m?
(b) foradt @ frg '3 udt 32 € TE3

(@) f&a =93
(¢ fa==? Whageliem s
84. ~ﬁww@€@mm’ﬂzwﬁﬁﬁ“w?§wmﬁ?
@ - TE (b) JESH 9 Y= 9T
(© T3 R e (8 Ry
o5, F7 Y ws ;£ 9O o 4R, Sedioat =2/ 2afer w3, B MY 39 faaEn mrE =dfen AT A
Iy o fI3 o feamyt fad 98 : |
(@) ¥WIFTIIFEHT
(b) 83 AT RISt
(@) ¥R & ¥R, 53 Su9-Cum nm2
9
86. ‘el TE WA §' - A1 W Yeme! sk # ffed SHE 9 Te9H &
() RN () TEsife (c)  STeRitsE (d) &%
87. Trefefan o & Ffe ot foshen =1 fofea w8 | i
[ﬂﬁﬁﬁﬁ@ﬁ%%ﬁﬂé’fﬁ/[ﬂ]ﬁgaﬂ%@mﬁmwmlmﬂﬁﬁﬁlw‘ﬁmﬁam%
(@ [1] (b)F [ a () [T T A (d) aﬁ'ﬁiﬁﬁif
58, AR T o 1 s s o 3 ot s 42 H
(a) AREATE G (b) SR (o)  GogaTe (d) %ﬂaam.ﬁm
89. ﬁnﬁa@amﬁﬁmaﬁﬁﬁ@w#{wwﬁ: |
(a)‘ RERn (b) TEfEar S () T d) afm
90. ﬁqﬁwﬁgﬂﬁﬁﬁﬁammwaﬁwwqﬁﬁv
(a) e b . 98'
(c) wfrew ) e
91. ‘T F1 T why-fame R
(a) Y + sy (b) i+ 3
T () R+ s '
(d) Ry + s
N-01/C | Nt
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92. frfefa o & Sfaa wdam =i fafe =t

(a) g (b) (c) WwE (d) M
93. TrefeiEn v & wd faudels = fafeq =t

g

(2) STE (b) efgdr (©) st (d) fasw

94, T=fciiad qee o1 Wt o fafea +i
3 HF TS SR AR Y A
(@) = STwef A TNy Al & Se H W # s
(b) R Tmed A ST AR & Wt § @R
(c) Gl I THUH YgIMT
(d) g IRE HE

95. f= forshedl | & sl Y= e Yo e fafed #Y
(a) <9 - wrE, faum, s (b) =9 - He, e, e
(c) &1d - ¥H, RV, Heeld (d) SH1 - T, g, YRS

96. Choose the correct synonym for the underlined word in the given sentence :

During the diplomatic negotiations, the ambassador couldn’t help but display his supercilious

demeanor, subtly implying that he held a position of unassailable power and authority.
(@) Confident (b) Decisive (c) Patronizing (d) Calm

97. Rearrange the parts of the sentence in correct order.
There are
P.  reports that toy shops and other
Q. to prepare for the Christmas rush
R.  non-food retailers are struggling to
S.  get enough stock into their warehouses

(@) RPSQ (b) PRSQ (c) SQRP (d) QRPS

98. Identify the most appropriate one Word Substitute for the given group of words :
Leave or remove from a place considered dangerous.

(a) Evade (b) Evacuate (c) Avoid (d) Exterminate

99. Find the correctly spelt words.
(a) Ommineous (b) Omineous () Ominous (d) Omenous

— N-01/C 21 P.T.O




(100-101) : Rearrange the following five sentences in proper sequence SO as to form a meaningf;;‘]
paragraph, then answer the questions given below : s

After Examining him, the doctor smiled at hnn mischievo
Thinking that he was really sick, his father summoned )
That day, Mintu wanted to take a day off from
Immediately, Mintu jumped up fr¢ -
s ¢,

TR e % ain SR

) Q;é_'.f.“.\f),f the word “Irascible”.
y ey :ﬂ‘l = i, i 2 2 .
- () Reluctant (c) Determined

assive voice :

» 11, y
In the cage

~ (b) Loyal

\ e to \Tﬁ'\ nd means
'-39«,, il to arouse interest (b)

. ..-;-0—.—. g 1
a private task to complete (d)
De? e M e

336 o= A 3t C 48 feA =




W TR A e

TRENOT OT e

107.

108.

109.

110.

111.

1112

113,

frefafan o A 9 o gan s = @ 2

(a) T (b) @RA () 5= (d) Hofiferm
Which of the following is not a micronutrient ?

(@) Manganese (b) Boron (¢) Zinc (d) Magnesium
9 H Ieqel 3 /2§

(@) Sfefe (b) | = () &3 (d) 6 9 =+ &
Excretory organ/s in an earthworm is/are :

(@) Nephridia (b)  Moist skin (c)  Both of these (d) None of these
fay & & aify =6t qem T 310 3¢ =@ @ fag Dt

(a) FrRR (b)  3MeTTRGE (c) hreftaiT (d) =g
The worship of fire in the indus valley Civilisation is proved by the discovery of the fire altar at :
(@) Surkotada (b) Alamgirpur () Kalibangan (d)  Chanhudaro

TF R U Ffeq fy ) 240mw%lﬁﬁ4oﬁq’vﬁawﬁm al HHA T T 1 ey
T T € | R F et T R 2

(@) 50fEd/sa  v) 60 fm /H (© 70fFH/S  (d) 80 R /e
(@) 50 km/h (b) 60 km/h (c) 70 km/h (d) 80 km/h

ol 9t 379 T 2l

Four prime numbers are arranged in ascending order. The product of first three is 385 and that of
last three is 1001. The largest prime number is :

@ 9 (b) 11 © 13 d) 17

15,625 %94 W 9 WEM & v 16% wﬁaﬁﬁaﬂwﬁ;mmﬁwﬁmaﬂmmwﬁam%:

(a) % 1,851 (b) % 1,941 (C)aE NP 95 (d) = 1,961
Find the compound interest on Rs. 15,625 for 9 months at 16% per annum compounded quarterly.
(a) Rs. 1,851 (b) Rs. 1,941 (c) Rs. 1,951 (d) Rs. 1,961

HES = ST HeHl & I T H1 qeem S it S T

(@) 9RG % IUpafa | (b) THHW sreAE

(c) THEY & FYUfd (d) WRA % FEEE

The joint session of the two houses of the parliament is chaired by the :
(a) Vice President of India (b)  Speaker of the Lok Sabha

(c)  Chairman of the Rajya Sabha (d) Prime Minister of India

N-01/C




If the product of two numbers is 72 and their
@) 12 b) 8




e

121. Bﬁrﬁﬁwaﬁtsﬁuﬁmmﬁ@fﬁﬁam%mmm%? (1 =22/7 wfifom)
@) 210128 ) 20743 S () 10842FH: () g1 aefe

What is the total surface area of a cylinder with radius 3 ¢m and height 8 cm ? (Take 7 = 22/7)
@) 21012em* 1) 20743 o2 () 10842em?  (4) 8812 e

122, TR % weed g frad &1 o s &2
() Toum oW & fraffn gee
(b) T oz % faif Lt
(© =g WY g9 g
(@) 9} 9 7
The members of Rajya Sabha are elected by
(@)  The elected members of legislative assembly
(b)  The elected members of Legislative council
(€) By direct election by the people
(d) None of these

123. SR =9e7H P, Q, R afr S & ITEEF FH: 1.33, 3.68, 2.47 31K 1.86 §) Frefafas & 3 feg arem &
TR FT A stfemag Bt o

Refractive indexes of four mediums P, Q, R and S are 1.33, 3.68, 2.47 and 1.86 respectively. In
which of the following mediums will the speed of light be maximum ?

@ P ®) Q © R @ s

120, 000216 F1 A= g1
(@) .6 (b) .06 (c) .006 (d) 9 9 5 75
The cube root of .000216 is :
(@ .6 (b) .06 (c) .006 (d) None of these

125. U% =m9rd 1200 793 & % et wizan & oik 34 1500 mﬁmmmmmaﬁammw

&2

A trader buys a computer for Rs, 1200 and sells it for Rs. 1500, What is the percentage profit
earned by the trader ?

(a) 10% (b) 15% () 20% (d) 25%

126. 0625 % wua i Fa1 37
| What is the fraction equivalent to 0.625 ?
(@) 25/40 (b) 5/10 () 5/8 (d) 50/80

N-01/




Sufficient data




feceleration due to gravity

Has the same value everywhere on earth

Has the same value everywhere in space
Varies with the latitude on earth

on the moon due to its smaller diameter




(d)  None of these




Sl

Tqercd hl

3. If one

- 143.

N..-O] ( l’.T.O

in X3+ 2 ons is 14. What is the number of electrons
10
(a) b) 13 © 14 @ 16
| 144, Wwﬁmaﬁmmmﬂmﬁm &7
The Draftmg Committee of Indian Constitution had how many members ?
D (b) 5 © 6 @ 7
i45.ﬁm%qaa#hmﬁamw TR & :
G R L O © TR ) e
Bowman’s Capsule and tubule together make a : ‘
(a) Neuron (b) Nephron (¢) Glomerulus (d) None of these
146. Frefafian 3 9 w7 o o st <1 22 |
(a) = (b) FIA (c) m ueda (d) 1 et
Which among the following is the highest peak ?
(a) Kamet (b) Kunlun () Nanga Parbat (d) Nanda Devi
47. ﬁwﬁa@aﬁﬁaﬁ#mmgﬁm%?
(a) fovam-m | (b) et wa
(©) =z - i () e - TeHtE
Which of the following is incorrectly matched ?
(2) Cinnabar - mercury - (b) Galena - lead
(6)  Haematite - copper (d) . Bauxite - aluminium

The dif; | e isting of two digits and the number formed'Byinterchanging the
€ Aullerency ) 1 UMb COLISIS !

{ | 1
1] | ] isibl

(@ 11




L%

5 TR
—
!

) T .
(i) L (B) W
(i) =& (€) B e
(iv) e () STTHIRE
Match the correct

Column

1) Amvlas

c)  (1)-(D) (
[ !\ (l L,:} \ )!

15C IGIER IR :
o _’
R Y Yo T:
(b) R UM H He v
St g
d i e
JL




